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Solve
636 534 186 674
X 9 X 5 X 8 X 6

Word problems :

1. How many legs do 2 dogs have?

2. There are 5 pens in a pack. How many pens in 2 packs?

3. How many socks are there in 3 pairs?

4. Ms. Hudson printed two sheets of recipes for each student.
How many sheets did she print in for 35 students in total?

5. Each bar of chocolate can be broken into 20 cubes. How many

cubes are there if there are 2 bars of chocolate?

CHALLENGE

There are 127 buckets. 1 bucket can hold 10 litres of water. How

many more litres of water does 127 buckets hold
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